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Directorate of Distance Education
COMMERCE (C.S. Scheme)

Business Statistics

Time : 3 Hours Max. Marks : 70/80

Instructions to Candidates :

1) Students who have attended 30 marks IA Scheme will have
to answer for total of 70 marks.
30 20577157 50308 ev’zgéamjg wdmw@j QETTRO70 2051 _@’g’/ﬁ@?ﬁ
w_g’@m@m '

2) Students who have attended 20 marks IA Scheme will have
to answer for total of 80 marks.
20 205778 50307 ev’zgéamjg Blovint D) Q718080 20518 _@’g’/ﬁ@?ﬁ

SVZ ORI L.
3) Note : Q. No. (18 or 19) in Section — D is compulsory for
80 marks Scheme only.
SECTION-A
RPN - 2
|. Answerany five of the following questions. 2 marks each. (5%x2=10)

BSNT 030 TIVTITR T @%ﬁ@ﬁ SVZ0R. B&D 2 20BN

1) Write the types of Applied Statistics.
@R’gscm% ﬁo@mﬁm@ o é)cp’ﬁ%fd.zl LTBO0.

2) Write the uses of Geometric Mean.
MOFRRCZT RTIRO0D LTS RENNSesd ?

3) What are primary data ?
T2, BROT T80T BRI 2

4) Write the advantages of good average.
U0 ROIROCD LRBRONTED ?

5) Write the merits of Sampling Methods.
TSB2RT DTN @535.@@7{@35& 2030900.
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6)

7)

2-

Write the objectives of measures of dispersion.
BTG NGO m@eéﬁ@ﬁ@ 3.

What is Interpolation and Extrapolation ?
30303 ?,jéaa’% =02 md@ﬁ zj@;-’% DOTITEI ?

Define index number.
#m%o%ﬁgﬁg{ magéma@%.

SECTION-B
NN - W

II. Answerany three of the following questions. 10 marks each.
BSNT OINT)TIVTITR :RTD @%ﬁ@ﬁ SUZOR. B0 10 ©0BNR.

9) What do you mean by tabulation ? Explain the essentials of good table.

10)

11)

@3%9@’&3 ROTTERD ? YV 5@3}033 @5&%5@7{%@@ ?

Explain the law connected with sampling.
SR QGRS NEBSOD ACITINTR DO

Calculate mean, median and mode from the following data.
B3 39N T20300T N2 ATIRO, mcjﬁ ROBY WIRIVE FTHRO TOEOZROWD.

(3x10=30)

Wages 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | 80-90 | 90-100 | 100-110
No. of 12 | 25 | 32 | 42 | 58 | 18 | 25 28
Persons
12) Calculate mean deviation from median of the following data.
SkaiMarplesialanirviatpataplowsialanalepate észzs%ddgl BOTIEROD.
0-5 15-10] 10-15 | 15-20 | 20-25 | 25-30 | 30-35 | 35-40 | 40-45
12 8 20 15 30 18 20 25 10
13) Calculate Bowlew’s Co-Efficient of Skewness from the following data.
83 39N T390300T LTPI0IT DRI mmw@{ FOTO GBROD.
Wages | 125175 | 175225 | 225275 | 275325 | 325375 | 37.5425 | 425475 | 475525 | 525575
No. of 12 16 25 14 13 10 6 3 1
Persons




Answerany two of the following questions. 15 marks each.
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SECTION-C
QNN -

BSNT CINT)TTTR TR @%ﬁ@?ﬁ SVUZ0R. 215 03N,
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(2x15=30)

14) Define statistics. Explain importance, scope and limitations of statistics.
#o:ma@@ QOTITE0 ? m’o@mﬁsm#@ 0 TRR0E, Y OB 533\%71%35\2{ QWOR..

15)

16)

17)

Following table gives the distribution of wages in two branches. State :
1) Which branch has paid highest average wage ?
2) Which branch has more uniform in payment of wage ?

83 3YNT 2 223N BRO0D TS 03N
1) o o043 8 éa&z§ RToR0 8RO TRERIT ?

2) CINT D083 BT BRY T0RE BREITE EA.

Wages (mej) 300-350 | 350-400 | 400-450 | 450-500 | 500-550 | Total
No. of Persons in

334 414 506 410 336 2000
Branch A (F°853%053)
No. of Persons in

126 186 314 210 164 1000
Branch B (52353 5095:3)

Calculate Karl Pearson’s Co-efficient of Skewness from the following data.

83 39N T290TD0T T F QODT R TwT 20Re08 msaésmjom 3300,

Marks above

4 7
(o) 0O [10[20 |30 40| 50| 60| 70| 80
No. of Students 150 (140|110l 80| 70| 60 | 30 | 14| ©
(DT, BN Roe3)

From the following data estimate number of persons who got more than
48 marks but not more than 50 marks.
B3 FINS T29030048 z?_&oé é?i% 50 %oé BRI LI0B NYTI ébma@rﬁ%ﬁzg{ 90T,

Marks upto
45 50 55 60 65
(o2ried)
No. of Students
447 484 505 511 514
(DT, @FN Rogd)
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SECTION-D

N - &8

IV. Compulsory questions for 80 marks Scheme only.
80 03¢ T3 BYIN 50T T,
R @ =24

Answer any one of the following question. 10 marks each.

BSNT OINT)TITHOR LWoTD _d)zzﬁ V02, 10 03N

(1x10=10)

18) The following data are related to the price and quantities of certain
commodities. Construct index number and also show how it satisfies TRT

and FRT.

B3 FIND LIS 0B TWOBRET BTY0H0T WO ARLETI), TOSTOR. TR LT

T FoOWTED 533_.3 €903 T 5@@%03352{ %&jﬁ@ﬁ&éﬁ DOTI) SPR.

Commodities | Price (23¢) | Quantity (J0=5259)
TEIN 2000 | 2010 | 2000 | 2010
A 8 | 20 50 60
B 2 6 15 10
C 1 2 20 25
D 2 5 10 12
E 1 5 40 30

19) What is statistical investigation ? Explain the different methods of collecting

primary data.

#o@magm;-\gﬁ TVOBREGES OTTe ? Fo2o,

FEONR0 HRO%.

TREO TTE FR0I IR DG
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